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Why did the monster
need a third sock?

What Te Do &

-----------------------------------

Answer the questions below. Match each answer to a letter in the Key. Then write the
letter in the space above its problem number to find the answer to the riddle.

0 In the fraction 2. what is the numerator?

. __.,__ Rey

@ in the fraction —1—, what is the denominator? _____ e
7 1/ T
3 2 .........
@ In the fraction o what is the numerator? 8 ... L
5 7. o
e In the fraction Ik what is the denominator? _____ T ... K 1
@ Which is th‘e roper fraction? ‘2 L | 2 1 7 S - '
prep : ) 2 2 lg vovviinn. F f‘
13 o e o
@ Which is the improper fraction? 2 > 5 4 G r
O Which is the mixed number? - 2— <= - SR i F
- ‘ 2 2 2 2 ... z
' L o 7 1 5 2V, .l E |
@ Which is the proper fraction? s 3-g- vy 31/ oin... N :
Which is the i fraction? L 2L 5 10 ......... T
Q Icn Is the improper fraction 5 3 % 5 3/2 ........ R
B i . - 7 15 9 LA
? ~Z 33— == ... :
@ Which is the mixed number? 5 3 5 R T g
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